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y = -12x + 144    
x = # of weeks 
y = amount of money at end of week 
-12 = $12 withdrawn each week (coefficient or slope) 
144 = amount of money at start (y-intercept) 

Yes, because the amount of money is decreasing by a 
constant amount ($12), and it is a straight line. 





• The class started 
with $100. 

 

• They withdrew $10 
per week. 

 

• After 10 weeks the 
account is out of 
money. 



This is a linear relationship 
because the amount of money 
decreases by $10 every week. 
(constant rate of change) 
 
As x increases by 1, y increases 
or decreases by a constant 
amount. 



Y =  -10x + 100 

Amount of $ in the 
account after x weeks 
(dependent variable) 

Constant rate 
of change 

- $10 
(Coefficient) 

Amount of money 
initially in the 

account 

Number of weeks 
(independent variable) 



Graph – it will be a straight line 
Table – as x increases by a constant amount, y increases 
or decreases by a constant amount 
Equation – follows the form: 

       y = mx + b 
    Even if …   m = 0, or b = 0       
     (y = x) 
 



Both of the relationships in this problem have 
decreasing rates of change. 
 
As the independent variable (x) increases, the 
dependent variable (y) decreases. 
 
These relationships have negative coefficients, so 
the graph of the line decreases from left to right. 
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